Schonstedt Spare Parts List - Number Order

Effective: January 1, 2017

Part No Description

206009 COVER ASSY, BLANK YELLOW

206750 END CAP, BLACK, MAGGIE

207220 END CAP, 52CX & 72CD

207503 CARTON, SINGLE GA-52CX 5-5/8 x 3-3/4 x 44-1/4
208064 CAP KIT, YELLOW, GA SERIES

208212 CRUTCH TIP, BLK, 1-1/8", CX

208240 BASE & TUBE ASSY, GA52CX

208241 COVER & LABEL ASSY, GA52CX

208242 LABEL, MODEL GA52CX

208245 SENSOR ASSY, GA52CX

208258 PIEZO ASSY, GA52CX

208279 TRANSFORMER ASSY

208282 CAPTIVE SCREW, GA72CD

208306 BATTERY BD ASSY 2-9V

208307 BATT & CHASSIS ASSY, GA52CX

208308 POTENTIOMETER, VOLUME, GA52CX (WITH MTG HARDWARE)
208312 LABEL, MODEL GA72CD

208316 SENSOR ASSY, GA72CD

208317 BATT & CHASSIS ASSY, GA72CD

208323 GASKET, BASE GA72CD

208345 POTENTIOMETER, VOLUME, GA72CD
208347 CABLE ASSY, SPEAKER, GA72CD

208348 COVER & LABEL ASSY, GA72CD

208349 CABLE ASSY, INTERFACE, GA72CD

208579 BASE&TUBE W/SENSOR ASSY,GA52CX
208583 CARTON, SINGLE GA-72CD 5-3/4 x 5-1/4 x 37
208588 BASE & TUBE W/SENSOR & PC BD ASSY, GA72CD
302235 CHASSIS, BARE, GA52CX

302276 CHASSIS, BARE, GA72CD

302372 PCB ASSY, GA72CD MAIN

302376 PCB ASSY, GA72CD DISPLAY

302386 PCB ASSY, GA52CX W/XFORMER

402227 BASE & TUBE ASSY, GA72CD

B11013 BATTERY, 9V, 522VP, CX/XTPC

B11014 BATTERY, 9V LITHIUM, CD, XT

B11015 BATTERY, 9V LITHIUM ION RECHARGEABLE
B11015-01 CHARGER, 9V LITHIUM ION BATTRY
B12009 BATTERY HOLDER, 9V CELL

B15002 BUZZER, GA72CD AUDIO BD

C11604 CONTACT, BATTERY,BE-CU W/NP XT

G11308 GASKET,SAE F3 GRADE WOOL FELT W/ADHESIVE, 1/8"x1/4", GREY



Schonstedt Spare Parts List - Number Order

Effective: January 1, 2017

Part No Description

G11316 GASKET, F3 GRADE WOOL FELT W/ADHESIVE, 1/16"x1/4", GREY
1C8511000487 LCD DISPLAY, GA72CD

J10014 JACK PHONE PLUG,CX/CD PC BD MT (WITH MTG HARDWARE)
K11105 KNOB, YEL/BLK, 1/8" DIA SHAFT, XT

K20013 KNOB, ROUND, 1/8" DIA SHAFT, FOR GA'S

K20015 KNOB, POINTER, 52CX & 72CD FITS 1/8" D-SHAFT

K20021 KNOB, KNURLED, BLACK, CX

L55002-1 LATCH, CASE FOR GA'S

L55002-2 LATCH KEEPER, CASE FOR GA'S

M-GA-52CX MANUAL, GA52CX

M-GA-72CD MANUAL, GA72CD

M-GA-92XT MANUAL, GA92XT

M-MAGGIE MANUAL, MAGGIE

M-XTPC MANUAL, XTPC

M-XTPC-PLUS  MANUAL, XTPC PLUS

N45000 NUT, SQUARE, 6-32, BRASS NP XT & PC

N50001 NUT, HEX, 3/8 ID-32 FOR ALL JACK ASSY'S

N50006 NUT, RING, M6 BRASS/NICKLE

N51111 NUT, CAP 6-32, BRASS BLACK NICKLE PLATE, XTPC

N65020 NUT, 8-32 x 1/4, SMALL PATTERN

NH8CN NUT, NYLON, HEX, 8-32NC-2, ALL

P23500 PIN, ROLL, .09 D x 7/8 L, SS, XT

P40106 POTENTIOMETER, CX T/H

PC11800 LENS, DISPLAY, XTPC & XT

R40010 O-RING XT

S35080 SWITCH, ON/OFF/SENS, 5 POS, CD (WITH MTG HARDWARE)
S35091 SWITCH, ON/OFF/SENS, 6 POS, CX (WITH MTG HARDWARE)
S51006 SCREW 6-32x1/2 PPH BRASS B/N XT & PC

S51008 SCREW 8-32x1/2 PPH BRASS B/N XT & PC

S51113-NP SCREW, 6-32x3/4 MACHINE, BRASS BLACK NICKLE PLATE, XTPC

SMRN8C875 SCREW,MCH MLD NYLON SLOT RH 8-32NC-2x7/8, ALL
SMVIN6C500W-NBCREW,NP, W/CAPTIVE INT TOOTH LCK WASHER, 6-32NC-2x1/2, ALL

S$S208195 CRUTCH TIP, BLACK, GA-72CD

STVI20375 SCREW,THREAD CUT NP STL,PPH TYPE 25,NC2x3/8 REPAIRS
W10000 ALLEN WRENCH, .050 SHORT ARM

W90005 WASHER, PLASTI-FLEX, CX 1.00 OD x 3/16 ID x .0075 T
W90006 WASHER, SPECIAL, NYLON, FLAT, ALL

WE10P WASHER #10,EXT TTH LCK,PH BRNZ

WF3/8SN WASHER,FLAT,STEEL N/P, .616 OD x.375 ID x.020, ALL JACKS
WI6P WASHER, #6 INT TOOTH LCK PHOS BRNZ, XT & XTPC

XT11100 DISPLAY HOUSING, RIGHT



Schonstedt Spare Parts List - Number Order

Part No

XT11200
XT11400
XT11500-1
XT11604
XT11605
XT11610
XT12100
XT12200
XT12300
XT12501
XT13101
XT13200
XT13300
XT20000
XT21000
XT23003

Effective: January 1, 2017

Description

DISPLAY HOUSING, LEFT

PCB ASSY, MAIN BD, DISPLAY FOR GA-92 & MAGGIE
RIBBON CABLE, FOLDED W/ FOAM 540MM

VOLUME POT ASSY. XT REV J

GAIN POT ASSY, GA-92

VOLUME POT ASSY, XT

SLIDER TUBE HOUSING

PLUNGER, SPRING PIN, BRASS

PULL TIP, GA-92XT, YELLOW

SENSOR ASSY, GA-92

BATTERY DOOR, GA-92 & XTPC (WILKS HOUSING)
CAPTIVE SCREW, 6-32,SLOT KNURL BRASS WITH BLACK OXIDE
GASKET, BATTERY DOOR HIGH DENSITY URETHANE PSA-1
LABEL, XTd FACEPLATE

LABEL, XTi FACEPLATE

LABEL, SIDE, COMPANY / FCC





